MANATEE COUNTY GOVERNMENT INTENT TO AWARD

	3	30.00	
SOLICITATION	IFB #15-0089DC	AUTHORIZED BY DATE	Melisia Wendel, CPPO
DEPARTMENT	Nick Wagner, LS Superintendent Sherri Robinson, PW Project Manager	CONSEQUENCES IF DEFERRED	Delay in project resulting in interference with public access
PURCHASING REPRESENTATIVE	Deborah Carey-Reed, 941/749-3074	DATE CONTRACT SHALL BE AWARDED	Seven days after date Posted.
SUBJECT	Satellite Lift Station R&R 2014 Group 3	DATE POSTED	DS V SE 4 3 15 CC N/A

NOTICE OF INTENT TO AWARD

Notice of Intent to Award, Invitation for Bid #15-0089DC, Satellite Lift Station R&R 2014 Group 3, to the lowest, responsive and responsible bidder, U.S. Water Services Corporation, New Port Richey, Florida, for a total bid of \$305,907.42 and 210 calendar days for completion.

ENABLING/REGULATING AUTHORITY

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

BACKGROUND/DISCUSSION

- The solicitation requested a qualified contractor for the rehabilitation of four (4) sewage lift stations identified as: River Landings Bluff, Greenfield Plantation 2, Colony Cove 8, and Veranda Springs.
- Formal competitive sealed bid procedures were followed resulting in a total of five (5) bidders submitting a sealed bid
 for consideration per the attached cost tabulation. Water Solutions of SWFL bid submittal was evaluated as nonresponsive because bid prices were not submitted on correct Bid Form as required in Bid Addendum #4 revision.
- Memorandum from the Public Works Department recommends award of the project to U.S. Water Services Corporation.
- Project will be funded through Utility Rates.

ATTACHMENTS			Utility Rates	4020019707
(List in order of attached)	 Public Works Recommendation Tabulation 	FUNDING SOURCE (Acct Number & Name)		Funds Verified Insufficient Funds
COST	\$305,907.42	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)	N/A	

MEMORANDUM

To: Melissa M. Wendel, CPPO, Purchasing Official

From: Jeff Streitmatter III, P.E., Project Management Division Manager <

Date: April 3, 2015

Subject: Satellite Lift Station R&R - 2014 Group 3 Rehabs

U.S. Water Services Corporation

Recommendation for Award - IFB #15-0089-DC

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract Bid "B", with a construction time of 210 calendar days be awarded to the lowest responsive, responsible bidder, U.S. Water Services Corporation in the amount of \$305,907.42 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Utility Rates.

Please contact Sherri Robinson, Project Manager if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/sr

cc: Mike Gore, Director, Utilities

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Sherri Robinson, Project Manager 5 R Nick Wagner, Lift Stations Superintendent

Prony Bonnaire Fils, Engineering Specialist II, w/attachments

to the list have a rigger or first 17 May be used from A

Project File: 402-0019707 - 9.2

Public Works Department Project Management Division 1022 26th Avenue East, Bradenton, FL 34208-3926 Phone number: (941) 708-7450

LARRY BUSTLE * CHARLES B. SMITH * JOHN R. CHAPPIE * ROBIN DISABATINO * VANESSA BAUGH * CAROL WHITMORE * BETSY BENAC

District 1 District 2 District 3 District 4 District 5 District 6 District 7

MEMORANDUM

To:

Sherri Robinson

From:

J. Shea Shoun, P.E., Sr. Project Engineer

Date:

March 30, 2015

Subject:

Engineering Recommendation of Award

IFB # 15-0089-DC

G. South

SLS R&R 2014 Group 3

Project No.: 402.0019707 5001301



We recommend award of this project to U.S. Water Services Corporation for \$305,907.42, as the lowest responsive bid for Bid A & B. References were favorable. A Certified Underground Utility & Excavation Contractor license (Gary Deremer CUC1223914) and Certified General Contractor license (Ceceii Delcher CGC003307) are current and active per myfloridalicense.com. The BBB website does list US Water Services Corporation as an "A+" rated company. Although not BBB accredited.

Thank You

Cc:

(without attachments unless otherwise noted)

File

Public Works Department Utility Engineering Division 1022 26th Avenue East Phone number: (941) 708-7450

LARRY BUSTLE * MICHAEL GALLEN * JOHN R. CHAPPIE * ROBIN DISABATINO * VANESSA BAUGH * CAROL WHITMORE * BETSY BENAC

Bidder Evaluation Notes: SLS R&R 2014 Group 3

by J. Shea Shoun March 25, 2015

FLORIDA CONTRACTOR LICENSE:

US Water Services Corporation will be performing the rehabilitation under Cecil Delcher, a Certified General Contractor CGC003307 & Gary Deremer, a Certified Underground Utility & Excavation Contractor CUC1223914. The license(s) will expire on 8/31/2016. Both CGC & CUC licenses are current and active according to www.myfloridalicense.com, copy of web page attached.

REFERENCE CHECKS:

See attached.

SURETY CHECK:

Gary Francis (800) 382-2150 is indicated on Question 15 of the questionnaire as the Surety's resident agent. The Surety is Fidelity & Deposit Company of Maryland and is listed on the www.floir.com website and has an active license at the Florida Office of Insurance Regulation, copy of web page attached.

BBB

Web check of the BBB site: BBB of West Florida on 3/20/15 with an "A+" rating.

Att

- 1. FDBPR.com screen print
- 2. FLOIR.com screen print
- 3. BBB screen print

File: Bidder Evaluation & Merno - SLS RR 2014 Grp 3.doca

BID TABULATION

IFB #15-0089-DC 2014 Group 3 Rehabs

(River Landings Bluff, Greenfield Plantation 2, Colony Cove 8 and Veranda Springs)

			2			5	8
	BID "A" BASED ON 150 CALENDAR DAYS	U.S. Water Services 4925 Cross Bayou Boulevard New Port Richey, FL 34852 (Pasco County)	Granger Meintenance & Const. 611 E Sam Allen Road Plant City, FL 33563 (Hillsborough County)	RTD Construction 38038 North Avenue Zephyrhille, FL 33542 (Pasco County)	Eclipse Construction 2930 Parkway Street Lakeland, FL 33811 (Polk County)	CEC Motor & Utility Services 1751 12th Street Palmetto, Fl. 34221 (Manatee County)	Water Solutions of SWFL 1500 Russel Avenue Sansota, FL 34232 (Sansota County)
		BID AMOUNT	BID AMOUNT	BID AMOUNT	BID AMOUNT	BID AMOUNT	BID AMOUNT
1	River Landings Bluff	\$75,272.70	\$74,882.50	\$103,547.40	\$108,874.15	No Bid	Non-Responsive
2	Greenfield Plantation 2	* \$59,079.42	\$51,604.30	\$84,253.40	\$79,305.05	No Bid	Non-Responsive
3	Colony Cove 2	\$83,537.91	\$89,419.00	\$110,073.48	\$119,817.50	No Bld	Non-Responsive
4	Veranda Springs	\$88,017.39	\$92,385.7D	\$117,936.39	\$139,409.05	No Bld	Non-Responsive
	Total Offer for Bid "A" with Contract Contingency - Based on a Completion Time of 160 Days	\$305,907.42	\$308,291.60	\$415,610.67	\$ \$447,405.75	No Bid	Non-Responsive
		MATERIAL PROPERTY AND THE PROPERTY AND THE PARTY AND THE P					8
	BID "B" BASED ON 210 CALENDAR DAYS	U.S Water Services 4925 Cross Seyou Boulevard New Port Richey, FL 34852 (Pasco County)	Granger Meintenance & Const. 811 E Sam Allen Road Plant City, FL 33563 (Hillsborough County)	RTD Construction 38038 North Avenue Zephyrhills, FL 33842 (Pasco County)	Eclipse Construction 2930 Parkway Street Lakeland, FL 33811 (Polk County)	CEC Motor & Utility Services 1751 12th Street Palmetto, FL 34221 (Manates County)	Water Solutions of SWFL 1500 Russel Avenue Serasota, FL 34232 (Serasota County)
		BID AMOUNT	BID AMOUNT	BID AMOUNT	BID AMOUNT	BID AMOUNT	BID AMOUNT
1	River Landings Bluff	\$75,272.70	\$74,882,50	\$103,547.40	\$108,210.30	\$81,026.00	Non-Responsive
2	Greenfield Plantation 2	\$59,079.42	\$51,604.30	\$84,253.40	\$78,189.10	\$44,585.20	Non-Responsive
3	Calony Cove 8	\$83,537.91	\$89,419.00	\$110,073.48	\$126,961.45	\$94,102.80	Non-Responsive
4	Verande Springs	\$88,017.39	\$92,385.70	¥ \$117,936.39	\$134,933.70	\$105,303.00	Non-Responsive
	Total Offer for Bid "B" with Contract Contingency - Based on a Completion Time of 210 Days	\$306,907.42	\$308,291.60	\$415,810.67	\$448,294,66	\$325,017.00	Non-Responsive
An	nknowledged Addendum #1, #2, #3, #4	Yes	Yes	Yes	Yes	Yes	Yes
_	ontractor's Questionnaire	Yes	Yes	Yes	Yes	Yes	Yes
Lk	conso Requirement	CUC1223914 & CGC03307	CGC1515355	CUC057278 & CGC080736	CGC045221	CGC1520078	None Listed
Pu	ublic Contracting & Env. Crimes	Yes	Yes	Yes	Yes	Yes	Yes
Fk	orida Trench Safety Act	Yes	Yes	Yes	Yes	Yes	No
85	id Bond	Yes	No	Yes	Yes	Yes	No
Nic	otea	Methematical Errors on Bid Item #6 - Raise existing Wetwell Top Siab for Greenfield Planitation 2, Colony Cove 8 and Veranda Springs (Bid "A" and Bid "B")	N/A	N/A	N/A	No Bid for Bid "A"	学文 Non-Responsive for Bid "A" and Bid "B"

4/3/2015

Page 1

** Non-responsive to Addendum #4 Bid Form items revision.

^{*} Per IFB Article A.29, Mathematical Errors, all bids shall be reviewed mathematically and corrected.

IFB #15-0089-DC 2014 GROUP 3 REHABS River Landings Bluff - RTU 346

(5509 61st Street East - Bradenton)

						2		3		4		5		3
BID "B" 210 CALENDAR DAYS			4925 Cross B New Part Ric	er Services syou Boulevard chay, FL 34652 County)	611 E Ser Plent Cit	enence & Const n Allen Road y, FL 33563 ugh County)	38038 N Zephyrhil	onstruction orth Avenue is, FL 33542 o County)	2930 Par Lakatano	onstruction foway Street), FL 33811 County)	1751 12th Pelmetto	tor & Utility : Street East), FL 34221 He County)		
Line Item	UM	Qty	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
Wetwell Cleaning	SF	417	\$4.12	\$1,718.04	\$4.00	\$1,668,00	\$17.00	\$7,089,00	\$10.00	\$4,170.00	\$2.40	\$1,000.80	THE RESERVE TO STATE OF THE PARTY OF THE PAR	spansive
4" DR-11 HDPE Piping	LF	48	\$45.32	\$2.084.72	\$60.00	\$2,760.00	\$305.00	\$14,030,00	\$205.00	\$9,430.00	\$78.00	\$3,588.00	Non-Re	
BPIU 14 Bese Elfs	EA	2	\$1,035.15	\$2,070.30	\$900.00	\$1,800,00	\$727.00	\$1,454.00	\$1,140.00	\$2,280.00	\$700.00	\$1,400.00	Non-Re	
Base Eli Mounting Plate	EA	2	\$1,035.15	\$2,381.36	\$900.00	\$1,800,00	\$875.00	\$1,750.00	\$1,390.00	\$2,780.00	\$700.00	\$1,400.00	Non-Re	
S.S. Pipe Bracing, 6 ft. diameter	EA	3	\$1,148,45	\$3,445.35	\$600.00	\$1,800,00	\$758.00	\$2,274.00	\$770.00	\$2,310.00	\$500.00	\$1,500.00	Non-Res	
Raise Existing Welwell Top Stab	VF	1	\$2.096.05	\$2,096.05	\$2,500,00	\$2,500,00	\$4,151,00	\$4,151.00	\$3,785.00	\$3,765,00	\$3,000.00	\$3,000.00	Non-Res	
Left Intentionally Blank	VF	1	\$2,080.00	\$2,080.00	\$2,500.00	\$2,000,00	34,131,001	\$4,121.00	93,780,00	93,700,00	\$3,000.00	\$3,000.00	Null-Me	ponsive
4" PVC Vent, Schedule 80	EA		\$360.50	\$360.50	\$400.00	\$400.00	\$763,00	\$763.00	\$380.00	\$360.00	\$100.00	\$100,00	Non De	sponsive
	EA	1	\$390.50	\$300.50	\$400.00	\$400.00	\$763.00 [\$763.00	\$300.00	\$300.00	\$100.00	\$100,00	NON-NO	sponsive
Left Intentionally Blank	100	1 00	0440441	95 540 40	000.00	80 FOF 00	850.00.1	20 000 00	970.00 [89.004.00	800.00	60 040 00	Non De	
2" S.S. Pump Guide Rail System	LF	39	\$142.14	\$5,543.46	\$85.00	\$2,535.00	\$58.00	\$2,262.00	\$76.00	\$2,964.00	\$60.00	\$2,340.00		sponsive
Resilient (Link) Seels w/Cerrier Pipe & Liner Repair	EA	5	\$1,190.00	\$5,950.00	\$400.00	\$2,000.00	\$614.00	\$3,070.00	\$50.00	\$250.00	\$250.00	\$1,250.00		sponsive
Wetwell Liner, Spray-On	SF	388	\$18.00	\$6,984.00	\$24.00	\$9,312.00	\$18.00	\$6,984.00	\$23.00	\$8,924.00	\$20.00	\$7,760.00	Non-Re	sponsive
i.elf Intentionally Blank														
Left Intentionally Blank														
Left Intentionally Blank	0.00													
Left Intentionally Blank	100													
Left Intentionally Blank														
Left Intentionally Blank														
Left Intentionally Blank	1000													
Left Intentionally Blank	1						Company of the Company						1000	
Left Intentionally Blank	175													
Reise Existing Valve Vault Rim	VF	1	\$2,035.00	\$2,035.00	\$2,000.00	\$2,000.00	\$2,704.00	\$2,704.00	\$3,765.00	\$3,765.00	\$3,000.00	\$3,000.00	Non-Re	sponsive
Left Intentionally Blank							GILL-1							
Left Intentionally Blank														TT
4" Gate Valve, MJ	EA	1	\$947.00	\$947.00	\$750.00	\$750.00	\$2,010.00	\$2,010.00	\$1,395.00	\$1,395.00	\$500.00	\$500.00		
4" PVC Pipe (CS00) (Cross/Tee to Plug Valve)	LF	4	\$53.00	\$212.00	\$25.00	\$100.00	\$343.00	\$1,372.00	\$85.00	\$340.00	\$125.00	\$500.00	Non-Re	sponsive
8" Influent Line Plug	EA	1	\$110.00	\$110.00	\$500.00	\$500.00	\$852.00	\$852.00	\$430,00	\$430.00	\$100.00	\$100.00	Non-Re	sponsive
By-Pass Pumping, <500 GPM	LS	1	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$11,393.00	\$11,393,00	\$5,650,00	\$5,650.00	\$6,500.00	\$6,500.00	Non-Re	sponsive
Relocate Ex. Backflow, Meter & Hose Bliob Assembly	LS	1	\$978.00	\$978.00	\$400.00	\$400.00	\$1,160.00	\$1,160.00	\$1,890.00	\$1,890,00	\$200.00	\$200.00		sponsive
Ramove & Replace Electric Meter Can	EA	1	\$995.00	\$995.00	\$2,000.00	\$2,000.00	\$900.00	\$900.00	\$2,585.00	\$2,585,00	\$1,125,00	\$1,125,00	The second secon	sponsive
Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$2,636.00	\$2,636.00	\$4,000.00	\$4,000.00	\$2,800.00	\$2,800.00	\$5,510,00	\$5,510.00	\$3,500.00	\$3,500.00		sponsive
Remove & Replace Control Panel	EA	1	\$8,059,00	\$8,059.00	\$11,000.00	\$11,000.00	\$8,124,00	\$8,124.00	\$9,195.00	\$9,195,00	\$20,000,00	\$20,000,00		sponsive
Remove & Replace Schedule 60 PVC Conduit	LF	15	\$159,73	\$2,395.95	\$40.00	\$600.00	\$16.00	\$240.00	\$420.00	\$6,300.00	\$20.00	\$300.00		spansive
Replace Electrical Service	LF	5	\$527.20	\$2,636.00	\$100.00	\$500.00	\$10.00	\$50.00	\$1,045.00	\$5,225.00	\$15.00	\$75.00		sponsive
Remove & Replace Electrical Mounting Structure	EA	1	\$2,636.00	\$2,636.00	\$3,000.00	\$3,000,00	\$2,425.00	\$2,425.00	\$3,365.00	\$3,365,00	\$3,000.00	\$3,000,00		sponsive
Brick & Morter Valve Supports, 3 Total, 8" High	VF	2	\$719.00	\$1,438.00	\$75,00	\$150.00	\$244.00	\$488.00	\$380.00	\$760.00	\$50.00	\$100.00		sponsive
Subtotal Construction Cost		-	4775.50	\$62,711,73	4.5.5	\$55,075,00		\$78,345,00		\$83,643,00	420,00	\$62,238,80		sponsive
Mobilization	LS	1		\$1,848.00		\$6,500.00		\$5,000.00		\$8,290,00		\$7,000.00		sponsive
Miscellaneous Work, Clean Up & Restoration	LS	1		\$2,750.00		\$4,500.00		\$10,639.00	-	\$4,340.00		\$3,321,20		sponsive
Record Drawings	LS	1		\$1,120.00		\$2,000.00		\$150.00		\$2,100.00		\$1,100.00		sponsive
Total Construction Cost (Bid Items 1 - 39)	- 0			\$68,429,73		\$68,075.00	-	\$94,134,00		\$98,373,00		\$73,660.00		sponsive
Contract Contingency (Used only with County Approval)	%	10		\$6,842.97		\$6,807.50		\$9,413.40		\$9,837.30		\$7,366.00	Non-Re	
	75	10	-											
Bid "B" - River Landings Bluff				\$75,272.70		\$74,882.50		\$103,547.40		\$108,210.30		\$81,026.00	Non-Res	sponsive

³age 1

IFB #15-0089-DC 2014 GROUP 3 REHABS Greenfield Plantation 2 - RTU 376

(10749 Old Grove Circle - Bradenton)

			10.00	1 1 1 1 1 1		2		3	1 1	4	1 1 11	8		8
BID "B" 210 CALENDAR DAYS			4925 Cross New Port R	iter Services Beyou Boulevard Schey, FL 34652 County)	611 E Se Plant Cl	teriance & Const. in Alten Road by, FL 33663 bugh County)	38036 No Zephyrhitt	natruction orth Avenue e, FL 33642 County)	2930 Par Laketens	Construction ioway Street i, FL 33811 County)	1751 120 Palmetis	ntor & Utility 1 Street East 2, FL 34221 se County)	1500 Rus Sarasota	ions of SWFL sel Avenue , FL 34232 In County)
Line item	U/M	Qty	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price
Wetwell Cleaning	SF	607	\$4.12	\$2,500.84	\$4.00	\$2,428,00	\$12.00	\$7,284.00	\$7.00	\$4,249.00	\$2.00	\$1,214.00		sponsive
4" DR-11 HDPE Piping	LF	75	\$45.32	\$3,399.00	\$60.00	\$4,500.00	\$136.00	\$10,200.00	\$123.00	\$9,225.00	\$80.00	\$6,000.00		sponsive
BPIU.14 Base Ells	EA	2	\$1,035.15	\$2,070.30	\$900.00	\$4,500.00	\$727.00	\$10,200.00 \$1,454.00	\$123.00	\$2,320.00	\$700.00	\$1,400.00		sponsive
Base Ell Mounting Plate	EA		\$1,035.15	\$2,381.36	\$900.00	\$1,800.00	\$876.00	\$1,454.00	\$1,100.00	\$2,820.00	\$700.00	\$1,400.00		sponsive
S.S. Pine Bracing, 6 ft. diameter	EA	2		\$4,593.80	\$800.00	\$2,400.00	\$758.00	\$3,032.00	\$590.00	\$2,820.00	\$500.00	\$1,400.00		sponsive
S.S. Pipe Bracing, 6 ft. diameter Raise Ediating Wetwell Top Stab	VF		\$1,148.45		\$2,500.00	\$1,750,00		\$5,145.00	\$5,480.00	\$2,360.00	\$3,000.00			esponsive
	Vr	0.7	\$2,035.00	\$1,424.50	\$2,500.00	\$1,100.00	\$7,350.00	35,145.00	30,480.00	\$3,030.00	\$3,000.00	\$2,100.00	NON-PO	sponsive
Left Intentionally Blank	+		2222 22	2000 00	0100.001	2100.00	2722 22	0700.00	04.047.00	24 247 22	2402.02			
4" PVC Vent, Schedule 80	EA	1	\$360.50	\$360.50	\$400.00	\$400.00	\$763.00	\$763.00	\$1,345.00	\$1,345.00	\$100.00	\$100.00	Non-Re	sponsive
Left Intentionally Blank									222.22					
2" S.S. Pump Guide Rall System	LF	59	\$142.14	\$8,386.26	\$65.00	\$3,835.00	\$51.00	\$3,009.00	\$69.00	\$4,071.00	\$60.00	\$3,540.00	Non-Re	sponsive
Left Intentionally Blank		,												
Wetwell Liner, Spray-On Existing Drain, Abandon	SF	20	\$18.00	\$380.00	\$80.00	\$1,200.00	\$49.00	\$980.00	\$38.00	\$760.00	\$55.00	\$1,100.00		sponsive
	EA	1	\$150.00	\$150.00	\$100.00	\$100.00	\$87.00	\$87.00	\$345.00	\$345.00	\$1,000.00	\$1,000.00		sponsive
4" Flanged Gate Velva	EA	3	\$498.00	\$1,494.00	\$800.00	\$2,400.00	\$543.00	\$1,629.00	\$790.00	\$2,370.00	\$600.00	\$1,600.00		sponsive
4" Flanged Swing Check valve	EA	2	\$1,369.00	\$2,738.00	\$1,500.00	\$3,000.00	\$976.00	\$1,952.00	\$1,115.00	\$2,230.00	\$600.00	\$1,000.00	17/10/2001/2017	esponaive
4" D.I. Flanged Pipe	LF	5	\$107.00	\$535.00	\$100.00	\$500.00	\$193.00	\$965.00	\$280.00	\$1,400.00	\$80.00	\$400.00	Non-Re	asponaive
Ductile Iron Fittings	LB	300	\$20.00	\$6,000.00	\$9.00	\$2,700.00	\$7.00	\$2,100.00	\$15.00	\$4,500.00	\$20.00	\$6,000.00	Non-Re	sponsive
4" D.I. Flanged Adapters	EA	1	\$152.00	\$152.00	\$250.00	\$250.00	\$477.00	\$477.00	\$242.00	\$242.00	\$75.00	\$75.00	Non-Re	eponsive
4" Male Aluminum Quick Coupler Adapter	EA	1	\$140.00	\$140.00	\$250.00	\$250.00	\$343.00	\$343.00	\$175.00	\$175.00	\$100.00	\$100.00	Non-Re	sponsive
S.S. Adjustable Valve Supports, Flange Attachment	EA	2	\$210.00	\$420.00	\$300.00	\$600.00	\$574.00	\$1,148.00	\$475.00	\$950.00	\$500.00	\$1,000.00	Non-Responsive	
Existing Valve Vault, Abandon	LS	1	\$3,860.00	\$3,860,00	\$500,00	\$500.00	\$582.00	\$582.00	\$2,645.00	\$2,645.00	\$1,000,00	\$1,000.00		
Left Intentionally Blank													000000000000000000000000000000000000000	
Left Intentionally Blank														
Concrete Stab, Valve Assembly	LS	1	\$650,00	\$850.00	\$700.00	\$700.00	\$1,557.00	\$1,557,00	\$1,495.00	\$1,495.00	\$1,500.00	\$1,500.00		
4" Gate Valve, MJ	EA	1	\$947.00	\$947.00	\$750.00	\$750.00	\$957.00	\$957.00	\$1,415.00	\$1,415.00	\$500.00	\$500.00		
4" PVC Pipe (C900) (Cross/Tee to Plug Valve)	LF	8	\$53.00	\$318.00	\$25,00	\$150.00	\$263.00	\$1,578.00	\$43.00	\$258.00	\$125.00	\$750.00		aponalve
8" Influent Line Plug	EA	1	\$110.00	\$110.00	\$400.00	\$400.00	\$852.00	\$852.00	\$435.00	\$435.00	\$100.00	\$100.00		sponsive
By-Pass Pumping, <500 GPM	LS	1	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$11,371.00	\$11,371.00	\$5,710,00	\$5,710.00	\$2,000.00	\$2,000.00		sponsive
Left Intentionally Blank	100	<u> </u>	40,000.00	40,000.00	40,000,00 8	401000100	917,011.00	W11,0311.00	40,110,00	40,110.00	412,000,00	92,000,00	1401140	Juponaneo
Left Intentionally Blank														
Left Intentionally Blank	-													
Left Intentionally Blank	-						<u> </u>							
Left Intentionally Blank	_								-		-			
Left Intentionally Blank														
	-								-					
Left Intentionally Blank	-													
Left Intentionally Blank				40 . P.J. 000 CO		\$35,913,00		\$59,217,00		\$55,158,00		POE 370 00	No. A	esponsive
Subtotal Construction Cost	16	1 .		\$47,990.56								\$35,779.00		
Mobilization	LS	1		\$1,848.00		\$5,000.00		\$5,000.00		\$8,870.00		\$3,000.00		esponsive
Miscellaneous Work, Clean Up & Restoration	LS	1		\$2,750.00		\$4,000.00		\$12,227.00		\$4,925.00	¥ 5000	\$753.00		sponsive
Record Drawings	LS	1		\$1,120.00		\$2,000.00		\$150.00		\$2,130.00		\$1,000.00		esponsive
Total Construction Cost (Bid Items 1 - 39)	-	1		\$53,708.56		\$46,913.00		\$76,594.00		\$71,081.00		\$40,532.00		esponsive
Contract Contingancy (Used only with County Approval)	%	10		\$5,370.86		\$4,691.30		\$7,659.40		\$7,108.10		\$4,053.20	Non-Re	esponsive
Bid "B" - Greenfield Planation 2				\$59,079.42		\$51,604.30		\$84,253.40		\$78,189.10		\$44,585.20	Non-Re	sponsive

Page 2 r . 4/3/2015

IFB #16-0089-DC 2014 GROUP 3 REHABS Colony Cove 8 - RTU 524 (7100 Lakeshore Drive - Ellenton)

					عنصصيا		الطاكر	3		4		8		6
BID "B" 210 CALENDAR DAYS			4925 Gross New Port R	iter Services Bayou Boulevard Johey, FL 34652 to County)	811 E San Plant City (Hillsboro	eriance & Const. n Alten Road y, FL 33663 ugh County)	38036 No Zephyrhili (Pasco	nstruction orth Avenue e, FL 33542 o County)	2930 Par Lekeland	Construction kway Street 1, FL 38611 County)	1751 12ti Palmetto	tor & Utility Street East I, FL 34221 se County)	1500 Rus Seresola	tions of SWFL usel Avenue i, FL 34232 ta County)
Line Item	Una	Qty	Unit Price	Extended Price	Untt Price	Extended Price	Unit Price	Extended Price	Unit	Extended Price	Unit Price	Extended Price	Unit Price	Extended
Wetwell Cleaning	SF	432	\$4.12	\$1,779.84	\$4.00	\$1,728.00	\$16,000	\$6.912.00	\$9.00	\$3,888.00	\$2.00	\$864.00		evianodas
4" DR-11 HOPE Piping	LF	50	\$45.32	\$2,266.00	\$60.00	\$3,000.00	\$216.00	\$10,800,00	\$180.00	\$9,000.00	\$80.00	\$4,000.00		eponaive
BPIU.14 Base Elis	EA	2	\$1,035,15	\$2,070.30	\$900.00	\$1,800.00	\$727.00	\$1,454.00	\$1,130,00	\$2,260.00	\$700.00	\$1,400.00		esponsive
Base Eli Mountino Plate	EA	2	\$1,035.15	\$2,381.36	\$900.00	\$1,800.00	\$876.00	\$1,752.00	\$1,375.00	\$2,750.00	\$700.00	\$1,400.00		evicinoque
S.S. Pipe Bracing, 6 ft. diameter	EA	3	\$1,148.45	\$3,445.35	\$600.00	\$1,800.00	\$758.00	52,274.00	\$765.00	\$2,750.00	\$500.00	\$1,500.00		evisnoque
Reise Existing Wetwell Top Steb	VF	0.7	\$2,035,00	\$1,424,50	\$2,500.00	\$1,750.00	\$5,274.00	\$3.691.80	\$5,325.00	\$3,727.50	\$3,000,00	\$2,100.00		aponsive
Replace Existing Wetwell Top Stab	EA	1	\$1,761,30	\$1,761.30	\$2,500.00	\$2,500.00	\$2,107.00	\$2,107.00	\$5,505,00	\$5,505.00	\$3,500.00 \$3,500.00	\$3,500.00		aponsive
4" PVC Vent, Schedule 80	EA	-	\$360.50	\$360.50	\$400.00	\$400.00	\$763.00	\$763.00	\$360.00	\$360.00	\$200.00	\$3,900.00		
		1												sponsive
	EA LF	1 40	\$927.00	\$927.00 \$5,685.60	\$1,200.00 \$65.00	\$1,200.00 \$2,600.00	\$799.00	\$799.00	\$1,185.00	\$1,185.00	\$1,000.00	\$1,000.00		sponsive
2" S.S. Pump Guide Reil System	LF	qu	\$142.14	\$5,685.60	\$60.00	\$2,600.00	\$56.00	\$2,240.00	\$73.00	\$2,920.00	\$80.00	\$3,200.00	Non-Re	esponsive
Left Intentionally Blank			212.22			40.000.40								
Wetwell Liner, Spray-On	SF	403	\$18.00	\$7,254.00	\$24.00	\$9,672.00	\$18.00	\$7,254.00	\$23.00	\$9,269.00	\$20.00	\$8,060.00		esponsive
Existing Drain, Abandon	EA	1	\$150.00	\$150.00	\$100.00	\$100,00	\$100.00	\$100.00	\$335.00	\$335.00	\$500.00	\$500.00		esponsive
4" Flanged Gate Valve 4" Flanged Swing Chack valve	EA	3	\$498,00	\$1,494.00	\$800.00	\$2,400.00	\$543.00	\$1,629.00	\$770.00	\$2,310.00	\$800.00	\$2,400.00		esponsive
	EA	2	\$1,369.00	\$2,738.00	\$1,500.00	\$3,000.00	\$976.00	\$1,952.00	\$1,085.00	\$2,170.00	\$800.00	\$1,600.00		evianoqee
4" D.I. Flanged Pipe	LF	5	\$107.00	\$535.00	\$100.0D	\$500.00	\$193.00	\$965.00	\$270.00	\$1,350.00	\$100.00	\$500.00		sponsive
Ductile Iron Fittings	LB	210	\$20.00	\$4,200.00	\$9.00	\$1,890,00	\$10.00	\$2,100.00	\$18.00	\$3,780.00	\$20.00	\$4,200.00		evianoqae
4" D.I. Flanged Adapters	EA	1	\$152.00	\$152.00	\$250.00	\$250.00	\$477.00	\$477.00	\$235.00	\$235.00	\$200.00	\$200.00		esponsive
4" Male Aluminum Quick Coupler Adapter	EA	1	\$140.00	\$140.00	\$250.00	\$250.00	\$343.00	\$343.00	\$170.00	\$170.00	\$100.00	\$100.00	Non-Responsive	
S.S. Adjustable Valve Supports, Flange Attachment	EA	2	\$210,00	\$420.00	\$300.00	\$600.00	\$574.00	\$1,148.00	\$460.00	\$920.00	\$1,000.00	\$2,000.00	Non-Responsiv	
Left Intentionally Blank								1000 1000		The second secon				
Left Intentionally Blank														
Complete Removal of Valve Vault	LS	1	\$3,680.00	\$3,680.00	\$900.00	\$900.00	\$2,440.00	\$2,440.00	\$2,590.00	\$2,590.00	\$2,000.00	\$2,000.00	Non-Responsiv	
Concrete Slab, Valve Assembly	LS	1	\$650.00	\$650.00	\$700.00	\$700.00	\$1,532.00	\$1,532.00	\$1,455.00	\$1,455.00	\$1,500.00	\$1,500.00	Non-Responsi	
4" Gate Valve, MJ	EA	1	\$947.00	\$947.00	\$750,00	\$750.00	\$954.00	\$954.00	\$1,380.00	\$1,380.00	\$500.00	\$500.00	Non-Re	saponsive
4" PVC Pipe (C900) (Cross/Tee to Plug Valva)	LF	8	\$53.00	\$318.00	\$50.00	\$300.00	\$263.00	\$1,578,00	\$45.00	\$270.00	\$80,00	\$480.00	Non-Re	asponsive
	EA	1	\$110.00	\$110.00	\$400.00	\$400.00	\$852.00	\$852.00	\$425.00	\$425.00	\$100,00	\$100.00		aponsive
6" Influent Line Plug By-Pass Pumping, <600 GPM	LS	1	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$11,368.00	\$11,368.00	\$5,590.00	\$5,590.00	\$4,000.0D	\$4,000.00		esponsive
Relocate Ex. Backflow, Meter & Hose Bibb Assembly	LS	1	\$978.00	\$978.00	\$400.00	\$400.00	\$1,233.00	\$1,233,00	\$1,870.00	\$1,870.00	\$500.00	\$500.00		saponsive
Remove & Replace Electric Mater Can	EA	1	\$995,00	\$995.00	\$2,000.00	\$2,000.00	\$900.00	\$900.00	\$2,560.00	\$2,560.00	\$1,125.00	\$1,125.00		asponsive
Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$2,636,00	\$2,636,00	\$4,000,00	\$4,000,00	\$2,525.00	\$2,525,00	\$5,460,00	\$5,460.00	\$3,500,00	\$3,500,00		esponsive
Remove & Replace Control Panel	EA	1	\$8,059.00	\$8,059,00	\$11,000,00	\$11,000,00	\$8,124.00	\$8,124,00	\$9,105,00	\$9,105.00	\$20,000,00	\$20,000,00		esponsive
Remove & Replace Schedule 80 PVC Conduit	LF	15	\$159.73	\$2,395,95	\$40.00	\$800.00	\$16.00	\$240.00	\$415.00	\$6,225,00	\$20.00	\$300.00	The state of the s	esponsive
Replace Electrical Service	LF	35	\$75.31	\$2,835.85	\$100.00	\$3,500.00	\$27.00	\$945.00	\$148.00	\$5,180.00	\$32.00	\$1,120.00		evienoqee
Remove & Replace Electrical Mounting Structure	EA	1	\$2,636.00	\$2,638,00	\$3,000,00	\$3,000.00	\$2,425.00	\$2,425.00	\$3,330,00	\$3,330,00	\$2,910.00	\$2,910.00		esponsive
Left Intentionally Blank		-	7=10:10:00	72,723,00		70,000	70,1000	72,120,00	70,000		32,0,000	70,000		
Left Intentionally Blank Subtatal Construction Cost	1			\$70,225.55		\$68,290.00	1	\$83,876,80	T	\$99,869.50	T	\$76,759.00	Non-Re	esponsive
	LS	1		\$1,848.00		\$6,500.00		\$5,000,00		\$8,670,00		\$6,000.00		esponsive
	LS	1	-	\$2,750.00		\$4,500.00		\$11,040,00		\$4,800.00		\$1,789.00		esponsive
Miscellaneous Work, Clean Up & Restoration Record Drawings	LS	1	4 300000 10	\$1,120.00		\$2,000.00		\$150.00		\$2,080.00		\$1,789.00	100000000000000000000000000000000000000	esponsive
Total Construction Cost (Bid Items 1 - 39)	Lo			\$75,943.55		\$81,290.00		\$100,066.80		4-1				
Contract Contingency (Used only with County Approval)	OV.	10		\$7,594.36		\$8,129.00		\$100,066.80		\$115,419.50		\$85,548.00		esponsiva
	-74	IV		4						\$11,641.95		\$8,554.80		sponsive
Bid "B" - Colony Cove 8				\$83,537.91		\$89,419.00		\$110,073.48		\$126,961.45		\$94,102.80	Non-Re	sponsive

Pag 3 / 4/3/2015

IFB #18-0089-DC 2014 GROUP 3 REHABS Veranda Springs - RTU 541 (3705 Asbury Drive - Ellenton)

			The old delivery of the latest delivery of th	ACCRECATION AND ADDRESS OF THE PERSONS ASSESSED.		Name and Address of the Owner, where the Owner, which is	The Part of the Pa	1					The same of the sa
BID "B" 210 CALENDAR DAYS			U.S. Water Services 1825 Cross Bayou Boule New Port Richey, FL 34 (Pasco County)	U.S. Water Services 1925 Cross Bayou Boulevard New Port Richey, F.L 34652 (Pasco County)	Granger Maint 611 E Sam Plant City (Hillsborts	nger Meintenance & Const. 611 E Sam Allen Road Plant City, FL 33663 (Hilleborough County)	Section (Pass)	RTD Construction 38036 North Avenue Zephynhills, FL 33542 (Paeco County)	Eclipse 2830 Pe Lakolan (Poli	Ecipse Construction 2830 Parkway Street Lakeland, FL 33811 (Polk County)	CEC N 1761 12 Patmeti (Mane	CEC Motor & Utility 1761 12th Street Exel Palmetto, Ft. 94221 (Manabae County)	Water Solutions of SWF1 1500 Russel Avenue Sensola, FL 34232 (Sansola, County)
Line flam	N N	à	Price	Extended	Unit	Edended	P Chit	Extended	P Se	Extended	Unk	Extended	Unit Extended
Welwell Cleaning	387	516	\$4.12	\$2,125.92	\$4.00	\$2,064.00	\$14.00	\$7,224.00	\$8.00	\$4,128.00	\$2.00	\$1,032.00	Non-Responsive
I' DR-11 HDPE Ploing	LF 8	98	\$45.32	\$2,991.12	\$60.00	\$3,980.00	\$185.00	\$10,890.00	\$136.00	\$8,976.00	***	\$5,280.00	Non-Responsive
BPIU.14 Base Ella	EA	2 5	\$1,035.15	\$2,070.30	\$800.00	\$1,800.00	\$727.00	\$1,454.00	\$1,125.00	\$2,250.00	\$700.00	\$1,400.00	Non-Responsive
Base El Mounting Plats	E	2	\$1,190.68	\$2,381.36	\$900.00	\$1,800.00	\$876.00	\$1,752.00	\$1,370.00	\$2,740.00		\$1,400.00	Non-Responsive
S.S. Pipe Bracing, 6 ft. diameter	EA	63	\$1,148.45	\$3,445.35	\$800.00	\$1,800.00	\$758.00	\$2,274,00	\$1,025.00	\$3,075.00	\$500.00	\$1,500.00	Non-Responsive
Raise Existing Wetwell Top Stab	NF 0	0.7	\$2,035.00	\$1,424.50	\$2,500.0D	\$1,750.00	\$5,837.00	\$4,085.90	\$5,300.00	\$3,710.00	2.5	\$2,100.00	Non-Responsive
Replace Edisting Wetwell Top Sieb	æ	L	\$1,761.00		\$2,500.00	\$2,500.00	\$2,107.00	\$2,107.00	\$5,485.00	\$5,485.00	_	\$3,500,00	Non-Responsive
4" PVC Vent, Schedule 80	ð	-	\$360.50	\$380.50	\$400.00	\$400.00	\$783.00		\$355.00	\$355.00	L	\$200.00	Non-Responsive
Alaminum Hatch Cover, 36"x48", Single Door (Wetwell)	ā	-	\$927.00	\$927.00	\$1,200.00	\$1,200.00	\$799.00	\$786.00	\$1,180.00	\$1,180.00	ès	\$1,000.00	Non-Responsive
2" S.S. Pump Guide Rail System	LF 4	49	\$142.14	\$6,984.86	\$85.00	\$3,185.00	\$54.00	\$2,646.00	\$70.00	\$3,430.00	\$80.00	\$3,920.00	Non-Responsive
Left Intentionally Blank													
Welwell Liner, Spray-On	SF 4	487	\$18.00	\$8,786.00	\$24.00	\$11,688.00	\$18.00	\$8,766.00	\$22.00	\$10,714.00	\$20.00	\$9,740.00	Non-Responsive
Existing Drain, Abandon	2	L	\$150.00	\$150.00	\$100.00	\$100.00	\$100.00	\$100.00	\$335.00	\$335.00		\$500.00	Non-Responsive
4" Flanged Gate Valve	EA.	3	\$498.00	\$1,494.00	\$800.00	\$2,400.00	\$543.00	\$1,629.00	\$765.00	\$2,295.00	\$800.00	\$2,400.00	Non-Responsive
4" Flanged Swing Check valve	EA .	2	\$1,369.00	\$2,738.00	\$1,500.00	\$3,000.00	\$976.00	\$1,952.00	\$1,080.00	\$2,160.00	\$600.00	\$1,600.00	Non-Responsive
4" D.I. Flanged Pipe	LF (22	\$107.00	\$535.00	\$100.00	\$500.00	\$193.00	\$985.00	\$270.00	\$1,350.00		\$500.00	Non-Reaponaive
Ductile Iron Fittings	LB 2	210	\$20.00	\$4,200.00	\$8.00	\$1,890.00	\$7.00	\$1,470.00	\$18.00	\$3,780.00	\$20.00	\$4,200.00	Non-Responsive
4" D.I. Flanged Adepters	EA	1	\$152.00	\$152.00	\$250.00	\$250.00	\$277.00	\$277.00	\$235.00	\$235.00	\$200.00	\$200.00	Non-Responsive
4" Male Aluminum Quick Coupler Adapter	EA	-	\$140.00	\$140.00	\$250.00	\$250.00	\$143.00	\$143.00	\$170.00	\$170.00	\$100.00	\$100,00	Non-Responsive
S.S. Adjustable Valve Supports, Flange Attachment	<u>a</u>	3	\$210.00	\$630.00	\$300.00	\$800.00	\$374.00	\$1,122.00	\$460.00	\$1,380.00	\$1,000.00	\$3,000.00	Non-Responsive
Existing Valve Vault, Abandon	F.S.		\$3,680.00	\$3,680.00	\$500.00	\$500.00	\$2,540.00	\$2,540.00	\$2,580.00	\$2,580.00	\$4,000.00	\$4,000.00	Non-Responsive
Left Intentionally Blank		-											
Left intentionally Blank					The second second								
Concrete Stab, Valve Assembly	SJ	-	\$650.00	\$650.00	\$700.00	\$700.00	\$1,532.00	\$1,532.00	\$1,450.00	\$1,450.00	\$3,500.00	\$3,500.00	Non-Responsive
4" Gate Valve, IMJ	EA	_	\$947.00	\$947.00	\$750.00	\$750.00	\$954.00	\$954.00	\$1,375.00	\$1,375.00	\$500.00	\$500.00	Non-Responsive
#" PVC Pipe (C900) (Cross/Tae to Plug Valve)	5	9	\$53.00	\$318.00	\$50.00	\$300.00	\$263.00	\$1,578.00	\$45.00	\$270.00	\$80.00	\$480.00	Non-Responsive
6" influent Line Plug	ā	_	\$110.00	\$110.00	\$400.00	\$400.00	\$862.00		\$420.00	\$420.00		\$100.00	Non-Responsive
By-Pess Pumping, <500 GPM	LS.	-	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$11,368.00	es.	\$5,570.00	\$5,570.00	\$6,000.00	\$6,000.00	Non-Responsive
Refocate Ex. Backflow, Meter & Hose Blbb Assembly	ខ្ម		\$978.00	\$978.00	\$300.00	\$300.00	\$1,034.00	ýs.	\$810.00	\$810.00		\$500.00	Non-Responsive
Remove & Replace Electric Meter Can	ā		\$995.00	\$985.00		\$2,000.00	\$800.00	\$800.00	\$2,550.00	\$2,550.00		\$1,125.00	Non-Responsive
Remove & Replace Fueed Safety Switch (disconnect)	8	-3	\$2,636.00	-	\$4,000.00	\$4,000.00	\$3,200.00	\$3,200.00	\$5,435.00	\$5,435.00	\$4,000.00	\$4,000.00	Non-Responsive
Remove & Replace Control Panel	ð	~8	\$8,059.00	\rightarrow	\$12,000.00	\$12,000.00	\$12,578.00	\$12,578.00	\$14,260.00	\$14,260.00	ន	\$20,000.00	Non-Responsive
Remove & Replace Schedule 80 PVC Conduit	F	16	\$159.73	\$2,385,95	\$40.00	\$600.00	\$16.00	\$240.00	\$415.00	\$6,225.00		\$300.00	Non-Responsive
Replace Electrical Service	-	15	\$175.73	\$2,635.95	\$100.00	\$1,500.00	\$27.00	\$405.00	\$345.00	\$5,175.00	\$32.00	\$480.00	Non-Responsive
Remove & Replace Electrical Mounting Structure	ā	-	\$2,636.00	\$2,636.00	\$3,000.00	\$3,000.00	\$2,425.00	\$2,425.00	\$3,315.00	\$3,315.00	\$3,000.00	\$3,000.00	Non-Responsive
Left Intentionally Blank						8							Section of the Contract of the
Subtotal Construction Cost				\$74,287.81		\$70,987.00		\$90,024.90		\$107,183.00		\$87,557.00	Non-Responsive
Abbitzation	\dashv	-		\$1,848.00		\$6,500.00		\$5,000.00		\$8,634.00		\$6,000.00	Non-Responsive
Miscellaneous Work, Clean Up & Restoration	5			\$2,750.00		\$4,500.00		\$12,040.00		\$4,780.00		\$1,173.00	Non-Responsive
Record Drawings	ST	H		\$1,120.00		\$2,000.00	0.0000000000000000000000000000000000000	\$150.00		\$2,070.00		\$1,000.00	Non-Responsive
Total Construction Cost (Bid Herns 1 - 39)				\$80,015.81		\$83,987.00	The second second	\$107,214.90		\$122,667.00		\$95,730.00	Non-Responsive
Contract Contingency (Used only with County Approval)	8	10		\$8,001.58		\$8,398.70		\$10,721.49		\$12,266.70		\$9,573.00	Non-Responsive
Die und in the second of the second	2.			2 CES 047 40		S92 385 70		C447 038 39		6434 022 70		640E 303 00	origination of the

IFB #15-0089-DC 2014 GROUP 3 REHABS River Landings Bluff - RTU 346 (5509 61st Street East - Bradenton)

والمراجع المراجع المرا	- Co. W			1		A STATE OF THE PARTY OF THE PAR		3		7		0		.0
BID "A" 150 CALENDAR DAYS			4925 Cross Bo New Port Ric	r Services nyou Boulevard hey, FL 34652 County)	611 E San Plant City	enance & Const, n Allen Road r, FL 33563 ugh County)	38038 No Zephyrhili	oneiruction orth Avenue is, FL 33642 o County)	2930 Par Lakeland (Polk	construction itway Street I, FL 33611 County)	1751 12 Palmet	otor & Utility In Street East to, FL 34221 tee County)	1500 Ru Sarasoti	tions of SWFI seel Avenue s, FL 34232 ots County)
Line fjern	U/M	Qty	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extender
Wetwell Cleaning	SF	417	\$4.12	\$1,718.04	\$4.00	\$1,668,00	\$17.00	\$7,089.00	\$9.50	\$3,961,50		lo Bid		esponsive
	LF	46	\$45.32	\$2,084.72	\$80.00	\$2,760.00	\$305.00	\$14,030.00	\$200,00	\$9,200.00		lo Bid		esponsive
4" DR-11 HDPE Piping BPIU, 14 Base Ells	EA	2	\$1.035.15	\$2,070.30	\$900.00	\$1,800.00	\$727.00	\$1,454.00	51.148.00	\$2,296.00		lo Bid		esponsive
Base Ell Mounting Plate	EA	2	\$1,190.68	\$2,381.36	\$900.00	\$1,800.00	\$875.00	\$1,750.00	\$1,400.00	\$2,800.00		lo Bid		esponsive
S.S. Pipe Bracing, 6 ft. diameter	EA	3	\$1,148.45	\$3,445.35	\$600.00	\$1,800.00	\$758.00	\$2,274.00	\$775.00	\$2,325.00		lo Bid		esponsive
Ralae Existing Wetwell Top Slab	VF	1	\$2,096.05	\$2,098.05	\$2,500.00	\$2,500.00	\$4,151.00	\$4,151.00	\$3,900.00	\$3,900.00		lo Bid		esponsive
Left Intentionally Blank	VP	1	\$2,080.00	\$2,080.00	\$2,500.00	\$2,000.00	\$4,151.00	34,101.00	\$3,300.001	\$3,500.00		ID DIO	NOT-FO	GREGURIAR
4" PVC Vent, Schedule 80	-		eses to I	6000 50	e400.00 l	6400.00	6702 DO I	\$763.00	\$362.00	\$362.00		lo Bid	Nee P	
	EA	1	\$360.50	\$360.50	\$400.00	\$400.00	\$763.00	\$763.00	\$302.00	\$362.00		10 DIO	NON-RO	esponsive
Left Intentionally Blank 2" S.S. Pump Guide Reil System	10		earn at I	00 540 10	eor oc	do cor co	eca oo l	00.000.00	670 pe l	60.040.00		in Dia	NI- F	
	LF	39	\$142.14	\$5,543.46	\$65.00	\$2,535.00	\$58.00	\$2,262.00	\$78.00	\$3,042.00		lo Bid		esponsive
Resilient (Link) Seals w/Cerrier Pipe & Liner Repair Webwell Liner, Soray-On	EA	5	\$1,190.00	\$5,950.00	\$400.0D	\$2,000.00	\$614.00	\$3,070.00	\$49.00	\$245.00		lo Bid		esponsive
Wetwell Liner, Spray-On	SF	388	\$18.00	\$6,984.00	\$24.00	\$9,312.00	\$18.00	\$6,984.00	\$24.00	\$9,312.00		lo Bld	Non-R	esponsive
Left Intentionally Blank														
Left Intentionally Blank Left Intentionally Blank													-	
Left Intentionally Blank									45					
Left intentionally Blank	-													
Left Intentionally Blank	-													
Left Intentionally Blank	_													
Left Intentionally Blank														
Left Intentionally Blank	-													
Left Intentionally Blank			1200		3									
Raise Existing Valve Vault Rim Left Intentionally Blank	VF	_1_	\$2,035.00	\$2,035.00	\$2,000.00	\$2,000.00	\$2,704.00	\$2,704.00	\$3,900.00	\$3,900.00		lo Bid	Non-R	esponsive
Left Intentionally Blank					H=N=IJI,S_L						1-60			
4" Gate Valve, MJ	EA	1	\$947.00	\$947.00	\$750.00	\$750.00	\$2,010.00	\$2,010.00	\$1,400.00	\$1,400.00		fo Bid		esponsive
4" PVC Pipe (C900) (Cross/Tee to Plug Valve)	LF	4	\$53.00	\$212.00	\$25.00	\$100.00	\$343.00	\$1,372.00	\$82.00	\$328.00		lo Bid		esponsive
8" Influent Line Plug	EA	1	\$110.00	\$110.00	\$500.00	\$500.00	\$852.00	\$852.00	\$430.00	\$430.00		lo Bid		esponaive
By-Pass Pumping, <500 GPM	LS	1	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$11,393.00	\$11,393.00	\$5,785.00	\$5,785.00		No Bid		esponsive
Retocate Ex. Backflow, Meter & Hose Bibb Assembly	LS	1	\$978.00	\$978.00	\$400.00	\$400.00	\$1,160.00	\$1,160.00	\$1,780.00	\$1,780.00		lo Bld		esponsive
Remove & Replace Electric Meter Can	EA	1	\$995.00	\$995.00	\$2,000.00	\$2,000.00	\$900.00	\$900.00	\$2,640.00	\$2,640.00		lo Bld		esponsive
Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$2,836.00	\$2,636.00	\$4,000.00	\$4,000.00	\$2,800.00	\$2,800.00	\$5,700.00	\$5,700.00		lo Bid	Non-R	esponsive
Remove & Replace Control Panel	EA	1	\$8,059.00	\$8,059.00	\$11,000.00	\$11,000.00	\$8,124.00	\$8,124.00	\$9,500.00	\$9,500.00	1	lo Bid	Non-R	esponsive
Remove & Replace Schedule 80 PVC Conduit	LF	15	\$159.73	\$2,395.95	\$40.00	\$600,00	\$16.00	\$240.00	\$430.00	\$6,450.00		lo Bid	Non-R	esponsive
Replace Electrical Sarvice	LF	5	\$527.20	\$2,836.00	\$100.00	\$500.00	\$10.00	\$50.00	\$1,050.00	\$5,250.00		lo Bid	Non-R	esponsive
Remove & Replace Electrical Mounting Structure	EA	1	\$2,636.00	\$2,636.00	\$3,000.00	\$3,060.00	\$2,425.00	\$2,425.00	\$3,340.00	\$3,340.00		lo Bid	Non-R	esponsive
Brick & Morter Valve Supports, 3 Total, 8" High	VF	2	\$719.00	\$1,438.00	\$75.00	\$150.00	\$244.00	\$488.00	\$375.00	\$750.00	1	io Bid	Non-R	esponsive
Subtotal Construction Cost				\$62,711.73		\$55,075.00		\$78,345.00		\$84,696.50	1	No Bid	Non-R	esponsive
Mobilization	LS	1		\$1,848.00		\$6,500.00		\$5,000.00		\$8,090.00	1	lo Bid		esponsive
Miscellaneous Work, Clean Up & Restoration	LS	1		\$2,750.00		\$4,500.00		\$10,639.00	0 00000	\$4,170.00	1	lo Bid		esponsive
Record Drawings	LS	1		\$1,120.00		\$2,000.00		\$150.00		\$2,020.00		lo Bid		esponsive
Total Construction Cost (Bid Items 1 - 39)			4-	\$68,429.73		\$68,075.00		\$94,134.00		\$98,976.50		lo Bid		esponsive
Contract Contingency (Used only with County Approval)	%	10		\$8,842.97		\$6,807.50		\$9,413.40	No.	\$9,897.65		lo Bid		esponsive
Bid "A" - River Landings Bluff				\$75,272.70		\$74,882,50		\$103,547.40		\$108,874,15		lo Bid		esponsive

Page 5 t 4/3/2018

IFB #16-0089-DC 2014 GROUP 3 REHABS Greenfield Plantation 2 - RTU 376 (10749 Old Grove Circle - Bradenton)

		- 9	-		10.	2		3		4		5		6
BID "A" 150 CALENDAR DAYS			4926 Cross I New Port R (Peac	iter Services Bayou Boulevard Ichey, FL 34852 to County)	611 E Sar Plant Cit (Hillaboro	tenance & Const. In Allen Road ly, FL 33663 lugh County)	38038 No Zephyrhili (Pasco	nstruction with Avenue e, FL 33542 County)	2930 Par Lakeland (Polk	construction loway Street I, FL 33611 County)	1751 12 Palmet	otor & Utility th Street East to, FL 34221 tee County)	1500 Ru Seresot	attons of SWFL seel Avenue a, FL 34232 ota County)
Line Stem	U/M	Qty	Unit Price	Extended Price	Unit Price	Extended	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended
Wetwell Cleaning	SF	607	\$4.12				1.00							
4" DR-11 HDPE Pioing	_			\$2,500.84	\$4.00	\$2,428.00	\$12.00	\$7,284.00	\$7.00	\$4,249.00		lo Bid		esponsive
BPIU.14 Base Elis	LF	75	\$45.32	\$3,399.00	\$60.00	\$4,500.00	\$136.00	\$10,200.00	\$124.00	\$9,300.00		lo Bid		esponsive
	EA	2	\$1,035.15	\$2,070.30	\$900.00	\$1,800.00	\$727.00	\$1,454.00	\$1,190.00	\$2,380.00		lo Bid		esponsive
	EA	2	\$1,190.68	\$2,381.36	\$900.00	\$1,800.00	\$876.00	\$1,752.00	\$1,415.00	\$2,830.00		lo Bid		esponsive
S.S. Pipe Bracing, 6 ft. diameter	EA	4	\$1,148.45	\$4,593.80	\$600.00	\$2,400.00	\$758.00	\$3,032.00	\$600.00	\$2,400.00		lo Bid		esponsive
Ralee Existing Wetwell Top Slab	VF	0.7	\$2,035.00	\$1,424.50	\$2,500.00	\$1,750.00	\$7,350.00	\$5,145.00	\$5,735.00	\$4,014.50		lo Bid	Non-R	esponsive
Left Intentionally Blank	-		2000 001						44 000 00 1		<u> </u>			
4" PVC Vent, Schedule 80	EA	1	\$360.50	\$360.50	\$400.00	\$400.0D	\$763.00	\$763.00	\$1,390.00	\$1,390.00		No Bid	Non-R	esponsive
Left Intentionally Blank	-	1												
2" S.S. Pump Guide Rail System	LF	59	\$142.14	\$8,386.26	\$65.00	\$3,835.00	\$51.00	\$3,009.00	\$73.00	\$4,307.00		lo Bid	Non-R	esponsive
Left Intentionally Blank														
Wetwell Liner, Spray-On	SF		\$18.00	\$360.00	\$60.00	\$1,200.00	\$49.00	\$980.00	\$41.00	\$820,00		lo Bid		esponsive
Existing Drain, Abandon	EA	1	\$160,00	\$150.00	\$100.00	\$100.00	\$87.00	\$87.00	\$350	\$350.00		No Bid		Responsive
4" Flanged Gate Valve	EA	3	\$498.00	\$1,494.00	\$800.00	\$2,400.00	\$543.00	\$1,629.00	\$810	\$2,430.00		Vo Bid		esponsive
4" Flanged Swing Check valve	EA	2	\$1,369,00	\$2,738.00	\$1,500.00	\$3,000.00	\$976,00	\$1,952.00	\$1,150	\$2,300.00		No Bid	Non-R	esponsive
4" D.I. Flanged Pipe	LF	5	\$107.00	\$535.00	\$100,00	\$500,00	\$193.00	\$965.00	\$284	\$1,420.00	1	No Bid	Non-R	esponsive
Ductile Iron Fittings	LB	300	\$20.00	\$8,000.00	\$9.00	\$2,700.00	\$7.00	\$2,100.00	\$15	\$4,500.00	1	No Bid	Non-R	esponsive
4" D.I. Flanged Adapters	EA	1	\$152.00	\$152.00	\$250.00	\$250.00	\$477.00	\$477.00	\$242	\$242.00	1	Va Bld	Non-R	esponsive
4" Male Aluminum Quick Coupler Adapter	EA	1	\$140.00	\$140.00	\$250.00	\$250.00	\$343.00	\$343.00	\$172	\$172.00	1	No Bld	Non-R	eaponsive
S.S. Adjustable Valve Supports, Flange Attachment	EA	2	\$210.00	\$420.00	\$300.00	\$600.00	\$574.00	\$1,148.00	\$480	\$960.00		No Bid		esponsive
Existing Valve Vault, Abandon	LS		33,860.00	\$3,860.00	\$500.00	\$500.00	\$582.00	\$582.00	\$2,660	\$2,660.00		No Bid		esponsive
Left Intentionally Blank		-												
Left Intentionally Blank				-										
Concrete Slab. Valve Assembly	LS	1	\$650.00	\$650,00	\$700.00	\$700,00	\$1,557.00	\$1,557.00	\$1,470	\$1,470,00		No Bid	Non-R	esponsive
4" Gate Valve, MJ	EA	1	\$947.00	\$947.00	\$750.00	\$750.00	\$957.00	\$957.00	\$1,450.00	\$1,450.00		No Bid		esponsive
4" PVC Pipe (C900) (Cross/Tea to Plug Valve)	LF	8	\$53.00	\$318.00	\$25.00	\$150.00	\$263.00	\$1,578.00	\$41.00	\$246.00		No Bid		esponsive
6" Influent Line Plup	EA	1	\$110.00	\$110.00	\$400.00	\$400.00	\$852.00	\$852.00	\$445.00	\$445.00		No Bid		esponsive
By-Pass Pumping, <600 GPM	LS	1	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$11,371.00	\$11,371.00	\$5,986.00	\$5,985,00		No Bid		esponsive
Left Intentionally Blank		-	40,000.00	40,000.00	40,000.00	90,000.00	411,071,00	\$71,011.00	00,000.00	40,000,00	·········	10 DM	1401711	азропано
Left Intentionally Blank														
Left Intentionally Blank	-													
Left Intentionally Blank	-						-ALL MARKET							
Left Intentionally Blank	-												-	
Left Intentionally Blank	-	-											-	
Left intentionally Blank									-					
Left intentionally Blank	_													
Subtotal Construction Cost	_			\$ \$47,990.56		\$35,913.00		\$59,217.00		\$56,320.50		No Bid	Alex D	esponsive
Mobilization	LS	1		\$1,848.00	-	\$5,000.00		\$5,000.00		\$8,825.00		Ve Bld		esponsive
		-					-							
	LS	1		\$2,750.00		\$4,000.00		\$12,227.00	-	\$4,860.00		No Bid		tesponsive
Record Drawings	LS	1		\$1,120.00		\$2,000.00	-	\$150.00		\$2,090.00		Vo Bid		esponsive
Total Construction Cost (Bid Items 1 - 39)	- ~	Lan		\$53,708.56		\$46,913.00		\$76,594.00		\$72,095.50		Vo Bid		esponsive
Contract Contingency (Used only with County Approval)	%	10		\$5,370.86		\$4,691.30		\$7,659.40		\$7,209.55		No Bid	Non-R	esponsive
Bid "A" - Greenfield Planation 2				\$59,079.42		\$51,604.30		\$84,253.40		\$79,305.05		lo Bid	Non-R	esponsive

Page 2 : 4/3/2015

IFB #15-0089-DC 2014 GROUP 3 REHABS Colony Cove 8 - RTU 524 (7100 Lakeshore Drive - Ellenton)

					100000	2		3		7		0		•
BID "A" 150 CALENDAR DAYS			4925 Cross I New Port Ri (Pssc	ter Services Sayou Boulevard chey, FL 34852 o County)	811 E San Plent City (Hillsboro	enance & Const. n Alian Road y, FL 33563 ugh County)	38038 No Zephyrhill (Pasco	Instruction orth Averuse s, FL 33542 County)	2930 Pa Lakeler (Pol	Construction urkway Street ad, FL 33811 k County)	1751 12th Patmetto (Manate	tor & Utility Street East b, FL 34221 se County)	1500 Ru Sarasol (Saraso	itions of SWFI usel Avenue u, FL 34232 ote County)
Line Norm	UM	Qty	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit	Extended Price	Unit	Extended
Wetwell Cleaning	SF	432	\$4.12	\$1,779.84	\$4.00	\$1,728.00	\$16,00	\$6,912.00	\$9.00	\$3,888.00	No	Bid		esponsive
4" DR-11 HDPE Piping	LF	50	\$45.32	\$2,266,00	\$60.00	\$3,000.00	\$216.00	\$10,800,00	\$33.00	\$1,650.00		o Bid		esponsive
BPIU.14 Base Ells	EA	2	\$1,035,15	\$2,200.00	\$900.00	\$1,800.00	\$727.00	\$1,454.00	\$1,135.00	\$2,270.00		o Bid		esponsive
Base Eli Mounting Plate	EA	2	\$1,190.68	\$2,381.36	\$900.00	\$1,800.00	\$876.00	\$1,752.00	\$1,355.00	\$2,710.00		o Bld		esponsive
A CONTRACTOR OF THE CONTRACTOR	EA	-	\$1,148.45	\$2,361.36	\$600.00	\$1,800.00	\$758.00	\$2,274.00	\$765.00	\$2,710.00		o Bid		esponsive
S.S. Pipe Bracing, 6 ft. diameter	_	3										p Bid		esponsive
Raise Existing Welwell Top Slab	VF	0.7	\$2,035.00	\$1,424,50	\$2,500.00	\$1,750.00	\$5,274.00	\$3,691.80	\$5,450.00	\$3,815.00				
Replace Existing Wetwell Top Slab	EA	1 1	\$1,761.30	\$1,761.30	\$2,500.00	\$2,500.00	\$2,107.00	\$2,107.00	\$5,700.00	\$5,700.00		o Bid		esponsive
4" PVC Vent, Schedule 80	EA	1	\$360.50	\$360.50	\$400,00	\$400.00	\$763.00	\$763.00	\$380.00	\$360.00		o Bid		esponsive
Aluminum Hatch Cover, 36"x48", Single Door (Wetwell)	EA	1	\$927.00	\$927.00	\$1,200.00	\$1,200.00	\$799.00	\$799.00	\$1,220.00	\$1,220.00		o Bid		esponsive
2" S.S. Pump Guide Rail System	LF	40	\$142.14	\$5,685.60	\$65.00	\$2,600.00	\$56.00	\$2,240.00	\$75.00	\$3,000.00	Ni Ni	o Bid	Non-R	esponsive
Left Intentionally Blank														
Wetwell Liner, Spray-On	SF	403	\$18.00	\$7,254.00	\$24.00	\$9,672.00	\$18.00	\$7,254.00	\$24.00	\$9,672.00		o Bid		esponsive
Existing Drain, Abandon	EA	1	\$150.00	\$150.00	\$100.00	\$100.00	\$100.00	\$100.00	\$335.00	\$335.00		o Bid		esponsive
4" Flanged Gate Valve	EA	3	\$498.00	\$1,494.00	\$800.00	\$2,400.00	\$543.00	\$1,629.00	\$775.00	\$2,325.00		o Bid		esponsive
4" Flanged Swing Check valve	EA	2	\$1,369.00	\$2,738.00	\$1,500.00	\$3,000.00	\$976.00	\$1,952.00	\$1,100.00	\$2,200.00		o Bid		esponsive
4" D.I. Flanged Pipe	LF	5	\$107.00	\$535.00	\$100.00	\$500.00	\$193.00	\$965.00	\$270.00	\$1,350.00		o Bid		esponsive
Ductile Iron Fittings	LB	210	\$20.00	\$4,200.00	\$9.00	\$1,890.00	\$10.00	\$2,100.00	\$18.00	\$3,780.00		o Bid		esponsive
4" D.i. Flanged Adepters	EA	1	\$152.00	\$152.00	\$250.00	\$250.00	\$477.00	\$477.00	\$230.00	\$230.00		o Bid	Non-R	esponsive
4" Mala Aluminum Quick Coupler Adapter	EA	1	\$140.00	\$140.00	\$250.00	\$250.00	\$343.00	\$343.00	\$165.00	\$165.00		o Bild	Non-R	eaponaive
S.S. Adjustable Valve Supports, Flange Attachment	EA	2	\$210.00	\$420.00	\$300.00	\$800.00	\$574.00	\$1,148.00	\$460.00	\$920.00	N	o Blid	Non-R	esponsive
Left Intentionally Blank														
Left Intentionally Blank														
Complete Removal of Valve Vault	LS	1	\$3,680,00	\$3,680.00	\$900.00	\$900.00	\$2,440,001	\$2,440.00	\$2,545.00	\$2,545.00	N	o Bid	Non-R	esponsive
Concrete Siab, Valve Assembly	LS	1	\$650.00	\$650,00	\$700.00	\$700.00	\$1,532.00	\$1,532,00	51,400	\$1,400.00	N	o Bid	Non-R	esponsive
4" Gate Valve, MJ	EA	1	\$947.00	\$947.00	\$750.00	\$750.00	\$954.00	\$954.00	\$1,385.00	\$1,385.00	N	o Bid		esponsive
4" PVC Pipe (C900) (Cross/Tee to Plug Valve)	LF	В	\$53.00	\$318.00	\$50.00	\$300.00	\$263.00	\$1,578.00	\$40.00	\$240.00	N	o Bid		esponsive
8" Influent Line Plug	EA	1	\$110.00	\$110.00	\$400.00	\$400.00	\$852.00	\$852.00	\$425.00	\$425.00	N	o Bid	A	esponsive
By-Pass Pumping, <500 GPM	LS	1	\$5,000.00	\$5,000,00	\$3,500,00	\$3,500.00	\$11,368.00	\$11,368.00	\$5,720.00	\$5,720.00		o Bid		esponsive
Relocate Ex. Backflow, Meter & Hose Bibb Assembly	LS	1	\$978.00	\$978.00	\$400.00	\$400.00	\$1,233,00	\$1,233.00	\$1,760.00	\$1,760.00		o Bld		esponsive
Remove & Replace Electric Meter Can	EA	1	\$995.00	\$995.00	\$2,000.00	\$2,000.00	\$900.00	\$900.00	\$2,615.00	\$2,615.00		o Bid		esponsive
Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$2,636.00	\$2,636.00	\$4,000.00	\$4,000.00	\$2,525.00	\$2,525.0D	\$5,635.00	\$5,635.00		o Bld		esponsive
Remove & Replace Control Panel	EA	1	\$8,059.00	\$8,059.00	\$11,000.00	\$11,000.00	\$8,124.00	\$8,124.00	\$9,380.00	\$9,380.00		o Bid		esponsive
	LF	15	\$159.73	\$2,395.95	\$40.00	\$800.00	\$16.00	\$240.00	\$420.00	\$6,300.00		o Bid		esponsive
Remove & Replace Schedule 80 PVC Conduit Replace Electrical Service	LF	35	\$75.31	\$2,635.85	\$100.00	\$3,500.00	\$27.00	\$945.00	\$150.00	\$5,250.00		o Bid		esponsive
Remova & Replace Electrical Mounting Structure	EA	1	\$2,636.00	\$2,636.00	\$3,000.00	\$3,000.00	\$2,425.00	\$2,425.00	\$3,300.00	\$3,200.00		o Bid		esponsive
Left Intentionally Blank	EA	1	\$2,030.00	\$2,030.UU	\$3,000.00	43,000.00	\$6,7EU.VU	46,760.00	\$3,300.00	40,000.00		0.000	14015-17	ooponaw8
Subtotal Construction Cost	-	_		\$ \$70,225,55		\$68,290,00		\$83,876.80		\$93,840,00	NI NI	o Bid	Non D	esponsive
Subtotal Construction Cost Mobilization	LS	1		\$1,848.00		\$8,500.00		\$5,000.00		\$8,435.00		o Bid		esponsive
					-	The state of the s		\$11,040,00				o Bid		-
Miscellaneous Work, Clean Up & Restoration	LS	1		\$2,750.00		\$4,500.00				\$4,650.00		o Bid		esponsive
Record Drewings	LS	1		\$1,120.00		\$2,000.00		\$150.00		\$2,000.00		The state of the s		esponsive
Total Construction Cost (Bid Items 1 - 39)		1 40		\$75,943.55		\$81,290.00		\$100,066.80		\$108,925.00		o Bid		esponsive
Contract Contingency (Used only with County Approval)	%	10	-	\$7,594.36		\$8,129.00		\$10,006.68		\$10,892.50		o Bid	Non-R	esponsive
Bid "A" - Colony Cove 8			A	\$83,537.91		\$89,419.00	7 -1	\$110,073.48		\$119,817.50	Ne	Bid	Non-R	esponsive

Page 3 4/3/2015

IFB #15-0089-DC 2014 GROUP 3 REHABS Veranda Springs - RTU 541 (3705 Asbury Drive - Ellenton)

					1 4	2		3		4	- 6		6
BID "A" 150 CALENDAR DAYS			4925 Cross New Port R (Pasc	der Services Bayou Boulevard ichey, FL 34852 to County)	611 E Sa Plant Ci (Hillsboro	tenence & Const. m Alten Roed ly, FL 33663 ough County)	38038 N Zephyrhi (Pasc	onstruction orth Avenue is, FL 33542 o County)	2930 Pa Lakelar (Pol	Construction urkway Street nd, FL 33811 k County)	CEC Motor & Utility 1751 12th Street East Palmetto, FL 34221 (Manatee County)	1500 Rus Sarasots (Saraso	tons of SWF sel Avenue i, FL 34232 te County)
une tem	UM	Qty	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Price	Extended Price	Unit Extended Price	Unit Price	Extended
Wetwell Cleaning	SF	515	\$4.12	\$2,125.92	\$4.00	\$2,064.00	\$14.00	\$7,224.00	\$8.00	\$4,128.00	No Bid		sponsive
4° DR-11 HDPE Piping	LF	66	\$45.32	\$2,991,12	\$60.00	\$3,960.00	\$165.00	\$10,890.00	\$134.00	\$8,844.00	No Bld		sponsive
BPIU.14 Base Ells	EA	2	\$1,035.15	\$2,070.30	\$900.00	\$1,800.00	\$727.00	\$1,454.00	\$1,130.00	\$2,260.00	No Bld		sponsive
Base Ell Mounting Plate	EA	2	\$1,035.15	\$2,381.36	\$900.00	\$1,800.00	\$876.00	\$1,752,00	\$1,350.00	\$2,700.00	No Bid		esponsive
S.S. Pipe Bracing, 6 ft. diameter	EA	3	\$1,148.45	\$3,445,35	\$600.00	\$1,800.00	\$758.00	\$2,274.00	\$1,030.00	\$3,090.00	No Bid		esponsive
Raise Existing Wetwell Top Slab	VF	0.7	\$2,035.00	\$1,424,50	\$2,500.00	\$1,750.00	\$5,837.00	\$4,085.90			No Bid		sponsive
Replace Existing Wetwell Top Slab	EA	1	\$1,761.00		\$2,500.00	\$2,500.00			\$5,485.00	\$3,825.50	No Bid		
	_	-		\$1,761.00			\$2,107.00	\$2,107.00	\$5,675.00	\$5,675.00			evienoga
4" PVC Vent, Schedule 80 Aluminum Hatch Cover, 36"x48", Single Door (Wetwell)	EA	1	\$360.50	\$360.50	\$400.00	\$400.00	\$763.00	\$763.00	\$355.00	\$355.00	No Bid		sponsive
	EA	1	\$927.00	\$927.00	\$1,200.00	\$1,200.00	\$799.00	\$799.00	\$1,215.00	\$1,215.00	No Bld		sponsive
2" S.S. Pump Guide Rail System	LF	49	\$142.14	\$8,964.86	\$65.00	\$3,185.00	\$54.00	\$2,646.00	\$72.00	\$3,528.00	No Bid	Non-Re	esponsive
Left Intentionally Blank	-												
Welwell Liner, Spray-On	\$F	487	\$18.00	\$8,766.00	\$24.00	\$11,688.00	\$18.00	\$8,786.00	\$23.00	\$11,201.00	No Bid		sponsive
Existing Drain, Abandon	EA	1	\$150.00	\$150.00	\$100.00	\$100.00	\$100.00	\$100.00	\$335.00	\$335.00	No Bid		evianogae
4" Flanged Gate Valve	EA	3	\$498.00	\$1,494.00	\$800.00	\$2,400.00	\$543.00	\$1,629.00	\$770.00	\$2,310.00	No Bid	Non-Re	sponsive
4" Flanged Swing Check valve	EA	2	\$1,369.00	\$2,738.00	\$1,500.00	\$3,000.00	\$976,00	\$1,952.00	\$1,100.00	\$2,200.00	No Bid	Non-Re	esponsive
4" D.I. Flanged Pipa	LF	6	\$107.00	\$535.00	\$100.00	\$500.00	\$193.00	\$965.00	\$270.00	\$1,350.00	No Bld	Non-Re	aponsive
Ductile Iron Fittings	LB	210	\$20.00	\$4,200.00	\$9.00	\$1,890.00	\$7.00	\$1,470.00	\$18.00	\$3,780.00	No Bid	Non-Re	paponsive
4" D.I. Flanged Adapters	EA	1	\$152.00	\$152.00	\$250.00	\$250.00	\$277.00	\$277.00	\$230.00	\$230.00	No Bid	Non-Re	sponsive
4" Male Aluminum Quick Coupler Adapter	EA	1	\$140.00	\$140.00	\$250.00	\$250.00	\$143.00	\$143.00	\$165.00	\$165.00	No Bid	Non-Re	esponsive
S.S. Adjustable Valve Supports, Flange Attachment	EA	3	\$210.00	\$830.00	\$300.00	\$900.00	\$374.00	\$1,122.00	\$455.00	\$1,365.00	No Bld	Non-Re	esponsive
Existing Valve Vault, Abandon	LS	1	\$3,680.00	\$3,680.00	\$500.00	\$500.00	\$2,540.00	\$2,540.00	\$2,530.00	\$2,530.00	No Bid	Non-Re	sponsive
Left Intentionally Blank			100										
Left Intentionally Blank					1100000			- 1					
Concrete Slab, Valve Assembly	LS	1	\$650,00	\$650,00	\$700.00	\$700.00	\$1,532,00	\$1,532.00	\$1,395.00	\$1,395.00	No Bid	Non-Re	sponsive
4" Gate Valve, MJ	EA	1	\$947.00	\$947.00	\$750.00	\$750.00	\$954.00	\$954.00	\$1,380.00	\$1,380.00	No Bid		esponsive
4" PVC Pips (C900) (Cross/Tee to Plug Valve)	LF	6	\$53.00	\$318.00	\$50.00	\$300.00	\$263.00	\$1,578.00	\$39.00	\$234.00	No Bid		sponsive
8" Influent Line Plug	EA	1	\$110.00	\$110.00	\$400.00	\$400.00	\$852.00	\$852.00	\$425.0D	\$425.00	No Bid		sponsive
By-Pass Pumping, <500 GPM	LS	1	\$5,000,00	\$5,000,00	\$3,500.00	\$3,500.00	\$11,368.00	\$11,368.00	\$8,690.00	\$8,690.00	No Bid		esponsive
Relocate Ex. Backflow, Meter & Hose Bibb Assembly	LS	1	\$978.00	\$978.00	\$300.00	\$300.00	\$1,034.00	\$1,034.00	\$800.00	\$800.00	No Bid		sponsive
Remove & Replace Electric Meter Can	EA	1	\$995.00	\$995.00	\$2,000.00	\$2,000.00	\$900.00	\$900.00	\$2,600.00	\$2,800.00	No Bid		esponsive
Remove & Replace Fused Safety Switch (disconnect)	EA	1	\$2,638.00	\$2,636.00	\$4,000.00	\$4,000.00	\$3,200.00	\$3,200.00	\$5,610.00	\$5,610.00	No Bid		sponsive
Remove & Replace Control Panel	EA	1	\$8,059.00	\$8,059.00	\$12,000.00	\$12,000.00	\$12.578.00	\$12,578,00	\$14,750.00	\$14,750,00	No Bid		sponsive
Remove & Replace Schedule 80 PVC Conduit	LF	15	\$159.73	\$2,395.95	\$40.00	\$800.00	\$16.00	\$240,00	\$420.00	\$6,300.00	No Bid		sponsive
Replace Electrical Service	LF	15	\$175.73	\$2,635.95	\$100.00	\$1,500.00	\$27.00	\$405.00	\$345.00	\$5,300.00	No Bid		sponsive
Remove & Replace Electrical Mounting Structure	EA	1	\$2,636.00	\$2,636,00	\$3,000.00	\$3,000.00	\$2,425.00	\$2,425.00	\$3,285.00	\$3,285.00	No Bid		esponsive
Left Intentionally Blank	EA		\$2,030.00	\$2,030,00	\$3,000.00	\$3,000.00	42,420.00	\$2,420.00	33,200.00	\$3,260.00	NO OIU	Non-Re	sponsive
Subtotal Construction Cost				\$74,297.81		\$70,987.00		\$90,024,90	-	- 0444 720 FA	No Bid	No. 7	
Mobilization	LS	1								\$111,730.50	No Bid		esponsive
	LS	_		\$1,848.00		\$6,500.00		\$5,000.00		\$8,390.00			esponsive
		1		\$2,750.00		\$4,500.00		\$12,040.00		\$4,625.00	No Bid		esponsive
Record Drawings	LS	1		\$1,120.00		\$2,000.00		\$150.00		\$1,990.00	No Bid		sponsive
Total Construction Cost (Bid Items 1 - 39)	- 04	140		\$80,015.81		\$83,987.00		\$107,214.90		\$126,735.50	No Bid		esponsive
Contract Contingency (Used only with County Approval)	%	10		\$8,001.58		\$8,398.70		\$10,721.49		\$12,873.55	No Bid	Non-Re	esponsive
Bld "A" - Veranda Springs				\$88,017.39		\$92,385.70		\$117,936.39		\$139,409.05	No Bid	Non-Re	sponsive

Page 4 (4/3/2015